BJZOM BMZBN

ad

el 6¢S

cel

0¥S

1S

veL

s

Sel

ers

9¢L

v¥S

8CLLEL

S¥S

6¢L

9¥S

LYS

7L

VS vl

evL

6vS

SARAAD

0SS

ovL

ISS

T | | F | Y|
=228 8
S & |w 8.3 5 | &
S | 2E | & 2|22
= B &2 |5 8 &8 e
— | S |= g = e =3
23 I5EE B = N
= = (5 e | =23 N o
< 8 2|7 B = & = 08
= | 2| = o 5 |8 ~ =
& § = % = = = =~
B E &= | g — =~
o |a= = = [ = o
2 2: = e f—) —_
= = : A
= =3 A =
° (-
p
-
o Przepompownia ¢ 1500mm betonowa
a N — N kanat K.2., DN200, Rz.dna=78,59
= T AT [R5 o - ————  OwirOV8
§ 4 b b~ 82,30
= 2 z oz =
sk
394 428 171797 |84 [ I rura ostonowa, DN324, L=3,00 m
|
416 817
60,1 407 17807 82,14 2 = . Studnia betonowa @ 1200mm
l ; )
06,1 ) 403 178,10 {8213 [ I rura ostonowa, DN324, L=3,00 m
|
3 82,10
81,6 390 (78,18 | 82,08 odc. T32 - 175, DN160, Rz.dna=78,20
=
25 368 | 7828  |8196 ode. T33 - st176, DN160, Rz.dna=78,30
EIEN §1.91
139 = 78,34 I rura ostonowa, DN324, L=3,00 m
I
205 % 350 | 7837 81,90 <2 . - Studnia betonowa @ 1200mm
[\N I\
] I
S
=
)
<
Q
-
2 s
Z =
02e]
330 81,84
576 33 [7856  |8188 I rura ostonowa, DN324, L=3,00 m
|
710 34| 78,600 82,10 3 - - - Studnia betonowa @ 1200mm
o l S — = kanat K.2.1.1, DN200, Rz.dna=80,60
80,8 = 1342 {7867  |82,00 { I rura ostonowa, DN324, L=3,00 m
|
§73 33| |8207 [ I b'F _ L ruraostonowa, DN324, L=3,00 m
S T onsrows
= 2 =2 Ty
m ~1
£ g
16,7 30417885 82,00 odc. T34 - st178/1, DN160, Rz.dna=78,87
35,0 3,00 78,95 81,95 o = . Studnia betonowa & 1200mm
| ; “
293 §1.90
60,7 27317907 | 8180 ode. T35 - st178/2, DN160, Rz.dna=79,09
260 81,80
90,0 263 79,22 81,85 “ . Studnia betonowa @ 1200mm
k ; “
a =
S5
§) 264 {7931 |81.95 ode. T36 - st140/1¢, DN160, Rz.dna=79,33
o
Z,
[\
) K
)
<
Q3
351 S ) 2 i
s W ,55 79,45 82,00 3 S N Studnia betonowa & 1200mm
Z, A
o o]
62,7 308 {79,568  |82,66 odc. T37 - st140/1a, DN160, Rz.dna=79,60
03,6 21306 7960 | 82,66 == odc. T38 - st140/1b, DN160, Rz.dna=79,62
69,1 8275 JlLE2TE = owerowlo
Ve = '\ 82,70
75,1 3,26 79,65 82,91 2 S ~ Studnia betonowa ¢ 1200mm
34 83,10
346 §3.20
)
N4
43 388 79,79  |83,67 ode. T39 - st181/2, DN160, Rz.dna=79,81
408 §3.90
30,2 4,55 79,92 84,47 3 = < Studnia betonowa @ 1200mm
/ h S\ ode. 46 - 5t182, DN160, Rz.dna=79,92
490 §4.90
75,1 3,99 80,15 84,14 ~3 S - Studnia betonowa @ 1200mm
I . - odc. S47 - st183, DN160, Rz.dna=81,21
383 84,00
350 83,70
o
Z,
[\
S
215
54 < 350 (8030|8380 odc. T41 - st184/1, DN160, Rz.dna=80,32
Q3
- =
141 %) 342 (8034|8376 odc. T42 - st184/2, DN160, Rz.dna=80,36
(o] o~
18,5 - 3,38 80,36 83,74 3 = . Studnia betonowa & 1200mm
| ; “
B3 329 (8041 |83,70 odc. T43 - st184/3, DN160, Rz.dna=80,43
36,8 83,76 U = = OwerOw 11
uk 83,75
54,7 3,34 80,54 83,88 3 — . Studnia betonowa @ 1200mm
h N - N odc. S49 - st564, DN160, Rz.dna=82,38
71,6 320 (80,63 |8389 odc. T44 - t563, DN160, Rz.dna=80,65
758 S 320 (80,65 |8389 odc. T45 - st185, DN160, Rz.dna=80,67
gA25, 058282 ,
~
=
- 249 83,8
8,6 g\i 2,42 80,8] 83’23 = " Studnia betonowa @ 1200mm
o l - odc. S50 - st210/1, DN160, Rz.dna=80,81
263 = INN, 1z.051=82,27 7 proj. rurg ostonowa DN110, L =2,00 m .
193 §2.96
427 184 (8107 8291
odc. T46 - st559/1, DN160, Rz.dna=81,09
5 |2
54,0 %\c 1,65 81,15 82,80 S Studnia betonowa ¢ 1200mm
: = odc. S51 - st559/1a, DN160, Rz.dna=81,15
=
~ £ Otwér OW 12
=B




